

Addition und Subtraktion mit Ganzen Zahlen

	Rechnung	vereinfachte Rechnung	Ergebnis	Notizen
1	$(+33) - (+12) =$			
2	$(+56) + (-23) =$			
3	$(-13) + (+45) =$			
4	$(+34) - (-58) =$			
5	$(-89) - (+34) =$			
6	$(+13) - (-73) =$			
7	$(+101) + (+78) =$			
8	$(-67) + (+23) =$			
9	$(+34) - (+58) =$			
10	$(-89) + (-89) =$			
11	$(+45) - (-45) =$			
12	$(-123) - (-123) =$			
13	$(-78) + (-51) =$			
14	$(-18) + (+92) =$			
15	$(+178) - (+941) =$			
16	$(-243) + (-257) =$			
17	$(-243) - (-513) =$			
18	$(+532) - (+345) =$			
19	$(-321) - (-243) =$			
20	$(+99) - (-99) =$			
21	$(-87) + (+67) =$			
22	$0 - (-34) =$			
23	$(-451) - (+52) =$			
24	$(-1000) + (-342) =$			
25	$(+263) - (-263) =$			

LÖSUNG - Addition und Subtraktion mit Ganzen Zahlen

	Rechnung	vereinfachte Rechnung	Ergebnis	Notizen
1	$(+33) - (+12) =$	$+33 - 12 =$	+21	
2	$(+56) + (-23) =$	$+56 - 23 =$	+33	
3	$(-13) + (+45) =$	$-13 + 45 = +45 - 13 =$	+32	
4	$(+34) - (-58) =$	$+34 + 58 =$	+92	
5	$(-89) - (+34) =$	$-89 - 34 =$	-123	
6	$(+13) - (-73) =$	$+13 + 73 =$	+86	
7	$(+101) + (+78) =$	$+101 + 78 =$	+179	
8	$(-67) + (+23) =$	$-67 + 23 =$	-44	
9	$(+34) - (+58) =$	$+34 - 58 = -58 + 34 =$	-24	
10	$(-89) + (-89) =$	$-89 - 89 =$	-178	
11	$(+45) - (-45) =$	$+45 + 45 =$	+90	
12	$(-123) - (-123) =$	$-123 + 123 =$	0	
13	$(-78) + (-51) =$	$-78 - 51 =$	-129	
14	$(-18) + (+92) =$	$-18 + 92 = +92 - 18 =$	+74	
15	$(+178) - (+941) =$	$+178 - 941 = -941 + 178 =$	-763	
16	$(-243) + (-257) =$	$-243 - 257 =$	-500	
17	$(-243) - (-513) =$	$-243 + 513 = +513 - 243 =$	+270	
18	$(+532) - (+345) =$	$+532 - 345 =$	+187	
19	$(-321) - (-243) =$	$-321 + 243 =$	-78	
20	$(+99) - (-99) =$	$+99 + 99 =$	+198	
21	$(-87) + (+67) =$	$-87 + 67 =$	-20	
22	$0 - (-34) =$	$0 + 34 =$	+34	
23	$(-451) - (+52) =$	$-451 - 52 =$	-503	
24	$(-1000) + (-342) =$	$-1000 - 342 =$	-1342	
25	$(+263) - (-263) =$	$+263 + 263 =$	+526	